SERVICE INFO -

SR TEINCEBHSE IS VY
NEORLE BT R

X—Hh—: BMW

B8R 5 Ser (FO7. F10. F11. F18)
6 Ser (FO6. F12. F13)
7 Ser (FO1. FO2. FO3. FO4)
X3 (F25)
X4 (F26)

M@mES © 7136495 10
713 6495 20
713 6496 00
713 6496 30

TERoOBHETIE, FEICEO ST SNE 3 HA
DEHBERE. 4 20RCEEALT. A7 7UY 2:9Ey MNBY 2R UZER
TFy I IICEAEENTVWET,

BETIE. BHEA-—HN—RELRZ2EHEBTZER
2RLEYFTERODMITHRUT,

AR
RUEYFHARBZNRUZERTSE. RUILABEIELET,
REDZE., K1 —ILhkbnExd |

ZFDs. BEEICIFNRUZFTRDMITE. BEENLI TGOS
CEBRBULET, BOMITBICEI /I NLYyFRFERLRVWCEE
B BEHLET,

UT DT NILIDEREINET,

713 6495 10 (M12x1,5) 713 6496 00 (M12x1,25)
713 6495 20 (M12x1,5) 713 6496 30 (M12x1,25)

%1 BB 1 80 Nm 1 BB 20 Nm

B2 BB +/90° 22 B&fE 0 120 Nm
553 EPE 1 +/90°

1: Zflol : M12x1.5 BEEX—A—DtkZzIRsFL T IEE W |
GHlORL : M12x1.25

BT Z T DRIE. FAG BRI v I
BoRUZadERAL TSV, BEREMZT 5
YDRULEYFERUDEY F2—REE2H—D
HETY,

SCHAEFFLER

&) rac e REP)XPERT



